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Daniel has 18 grapes. He decided to share them between himself and his two friends. How many does each get?

“1| There are 28 children in a class. Each table will seat 4.

Each packet holds 4 crayons. How many packets are needed for 24 crayons?

"] Al spends 88p on 8 stickers. How much does one sticker
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Rajan, Cairo and Joan sweets equally. Each gets 6 sweets. How many did they have altogether?
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There are 9 people at a party. If there are 36 sandwiches to share equally, how many sandwiches should each
person have?

Afamily have saved £56 between them. When they split it equ
‘people are in the famil

Matt s decorating cookies with chocolate butions. When he puts 7 buttons on each cookie, he has 4 buttons.
left over. When he puts 8 buttons on each cookie, he has none left over.

How many cookies does he have? How many buttons does he have?





